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QUESTION 1

The router ID is not configured.

How does OSPFv3 determine the router ID in this situation?

A. OSPFv3 uses the IPv4 address of the first interface that comes up.
B. OSPFv3 uses the IPv6 address of the last interface that comes up.
C. OSPFv3 uses the IPv6 address of the first interface that comes up.
D. OSPFv3 uses the IPv4 address of the last interface that comes up.

Correct Answer: A

QUESTION 2

You are configuring OSPF and want to ensure that interface ge-0/0/3 is preferred over interface ge-0/0/4.
Which statement is correct in this scenario?

A. Configure ge-0/0/3 with a higher metric.

B. Configure reference bandwidth.

C. Configure a redistribution policy.

D. Configure ge-0/0/4 with a higher metric.

Correct Answer: D

QUESTION 3

Click the Exhibit button.

user@router> show route 15%2.168.60.0/22
inet.0: 13 destinations, 13 routes (13 active, 0 holddown, 0 hidden)
+ = Active Route;, — = Last Active, * = Both
1592.168.€0.0/22 *[Aggregate/130] 00:02:30
> to 192.168.1.1 wvia ge-0/0/1.0

Which type of route is shown in the exhibit?
A. generated

B. direct
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C. aggregate
D. static

Correct Answer: A

QUESTION 4

You are configuring IBGP and you must ensure that reachability is maintained between participating routers, even if the
physical topology changes.

Which two actions should you perform in this scenario? (Choose two.)
A. Configure DHCP on all IBGP devices.

B. Configure an IGP within your IBGP network.

C. Configure static routes to all IBGP peers.

D. Configure IBGP peerings to loopback addresses.

Correct Answer: BD

QUESTION 5

Each PC and IP phone in your network is connected to a switch using the same port. All incoming data traffic is
untagged and belongs to the v10 VLAN, while traffic coming from the IP phones is tagged with a VLAN value of 20 and
should belong to the v20 VLAN on your switch.

In this scenario, which statement is correct?

A. You must enable the voice VLAN feature on the incoming interfaces and assign the v20 VLAN.

B. You must enable an IRB interface and assign it to the v10 and v20 VLANS.

C. You must enable LLDP-MED on the incoming interfaces and assign the v20 VLAN.

D. You must enable the guest VLAN feature on the incoming interfaces and assign the v20 VLAN.

Correct Answer: A
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